



Summary of Bids Received

Project: Washington Street Bike Path **CPMS Pin:** B-01419a
Section: 21-00110-15-BT **Let Date:** December 09, 2025

Description: The work consists of a new bike path along the south side of Washington Street from Mainsail Drive to US 45 and on the north side of Washington Street from US 45 to Almond Road as well as new sidewalk along the north side of Washington Street from Sextant Drive to Mainsail Drive and along the South side of Washington Street from Tanqueray Drive to Almond Road. The proposed improvements will also include upgrade of sidewalk corners to current ADA requirements, spot concrete curb and gutter removal and construction, and retaining walls where needed. In addition, landscaping items, tree planting, pavement patching, frame and lid adjustments, storm sewer, and pavement markings and all associated work necessary to complete the project as shown on the plans and as described herein.

Bidder	Address	City, State, Zip	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate
Copenhaver Construction, Inc.	17622 Depot Street	Union, IL, 60180	\$4,421,079.17	-13.22%	-\$673,777.83
Berger Contractors, Inc.	1205 Garland Road	Wauconda, IL, 60084	\$4,873,814.82	-4.34%	-\$221,042.18
Acura Inc	556 County Line Road	Bensenville, IL, 60106	\$5,036,304.56	-1.15%	-\$58,552.44
Lorig Construction Company	250 E. Touhy Ave	Des Plaines, IL, 60018	\$5,095,361.39	0.01%	\$504.39
Alamp Concrete Contractors, Inc.	1900 Wright Blvd.	Schaumburg, IL, 60193	\$5,147,912.34	1.04%	\$53,055.34
D'Land Construction LLC	1300 Chase St	Algonquin, IL, 60102	\$5,281,421.16	3.66%	\$186,564.16
Campanella & Sons, Inc.	39207 N. Magnetics Blvd.	Wadsworth, IL, 60083	\$5,359,516.20	5.19%	\$264,659.20
Engineer's Estimate:				\$5,094,857.00	

Return Bid Tabulation
Project: Washington Street Bike Path
Section: 21-00110-15-BT

CPMS Pin: B-01419a
Let Date: December 09, 2025

The work consists of a new bike path along the south side of Washington Street from Mainsail Drive to US 45 and on the north side of Washington Street from US 45 to Almond Road as well as new sidewalk along the north side of Washington Street from Sextant Drive to Mainsail Drive and along the South side of Washington Street from Tanqueray Drive to Almond Road. The proposed improvements will also include upgrade of sidewalk corners to current ADA requirements, spot concrete curb and gutter removal and construction, and retaining walls where needed. In addition, landscaping items, tree planting, pavement patching, frame and lid adjustments, storm sewer, and pavement markings and all associated work necessary to complete the project as shown on the plans and as described herein.

Item No.	Pay Code	Description	Quantity	Unit	Eng Unit Price	Copenhaver Construction, Inc.	Berger Contractors, Inc.	Acura Inc	Lorig Construction Company	Alamp Concrete Contractors, Inc.	D'Land Construction LLC	Campanella & Sons, Inc.
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	251.0	UNIT	\$50.00	\$12,550.00	\$22.00	\$5,522.00	\$18.00	\$4,518.00	\$60.00	\$15,060.00
2	20100210	TREE REMOVAL (OVER 15 UNITS DIAMETER)	91.0	UNIT	\$100.00	\$9,100.00	\$33.00	\$3,003.00	\$29.00	\$2,639.00	\$75.00	\$6,825.00
3	20101100	TREE TRUNK PROTECTION	38.0	EACH	\$128.00	\$4,864.00	\$100.00	\$3,800.00	\$200.00	\$7,600.00	\$200.00	\$4,750.00
4	20101200	TREE ROOT PRUNING	5.0	EACH	\$100.00	\$500.00	\$50.00	\$250.00	\$50.00	\$250.00	\$150.00	\$750.00
5	20101700	SUPPLEMENTAL WATERING	163.0	UNIT	\$10.00	\$1,630.00	\$0.01	\$1.63	\$1.00	\$163.00	\$1.00	\$163.00
6	20200100	EARTH EXCAVATION	3,625.0	CU YD	\$75.00	\$271,875.00	\$37.00	\$134,125.00	\$35.00	\$126,875.00	\$25.00	\$90,625.00
7	20201200	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	2,167.0	CU YD	\$75.00	\$162,525.00	\$47.00	\$101,849.00	\$0.01	\$21.67	\$55.00	\$119,185.00
8	20400800	FURNISHED EXCAVATION	1,698.0	CU YD	\$50.00	\$84,900.00	\$15.00	\$25,470.00	\$0.01	\$16.98	\$35.00	\$59,430.00
9	20800150	TRENCH BACKFILL	220.0	CU YD	\$40.00	\$8,800.00	\$50.00	\$11,000.00	\$56.00	\$12,320.00	\$45.00	\$9,900.00
10	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	3,142.0	SQ YD	\$2.00	\$6,284.00	\$3.00	\$9,426.00	\$3.50	\$10,997.00	\$4.50	\$14,139.00
11	21101615	TOPSOIL FURNISH AND PLACE, 4"	19,884.0	SQ YD	\$8.00	\$159,072.00	\$4.00	\$79,536.00	\$5.25	\$104,391.00	\$4.00	\$79,536.00
12	21101685	TOPSOIL FURNISH AND PLACE, 24"	1,990.0	SQ YD	\$30.00	\$59,700.00	\$20.00	\$39,800.00	\$32.00	\$63,680.00	\$24.00	\$47,760.00
13	21301052	EXPLORATION TRENCH 52" DEPTH	100.0	FOOT	\$50.00	\$5,000.00	\$30.00	\$3,000.00	\$12.00	\$1,200.00	\$50.00	\$5,000.00
14	25000312	SEEDING, CLASS 4A	4.5	ACRE	\$10,000.00	\$45,000.00	\$5,000.00	\$22,500.00	\$4,500.00	\$20,250.00	\$5,000.00	\$22,500.00
15	25000400	NITROGEN FERTILIZER NUTRIENT	407.0	POUND	\$3.00	\$1,221.00	\$1.00	\$407.00	\$3.00	\$1,221.00	\$1.00	\$407.00
16	25000600	POTASSIUM FERTILIZER NUTRIENT	407.0	POUND	\$3.00	\$1,221.00	\$1.00	\$407.00	\$3.00	\$1,221.00	\$1.00	\$407.00
17	25100630	EROSION CONTROL BLANKET	21,874.0	SQ YD	\$3.00	\$65,622.00	\$2.00	\$43,748.00	\$1.80	\$39,373.20	\$1.80	\$39,373.20
18	28000305	TEMPORARY DITCH CHECKS	126.0	FOOT	\$25.00	\$3,150.00	\$16.00	\$2,016.00	\$15.00	\$1,890.00	\$15.00	\$1,890.00
19	28000400	PERIMETER EROSION BARRIER	2,736.0	FOOT	\$5.00	\$13,680.00	\$3.00	\$8,208.00	\$3.50	\$9,576.00	\$3.00	\$8,208.00
20	28000500	INLET AND PIPE PROTECTION	23.0	EACH	\$175.00	\$4,025.00	\$150.00	\$3,450.00	\$300.00	\$6,900.00	\$300.00	\$6,900.00
21	28000510	INLET FILTERS	63.0	EACH	\$150.00	\$9,450.00	\$180.00	\$11,340.00	\$200.00	\$12,600.00	\$200.00	\$12,600.00
22	28100105	STONE RIPRAP, CLASS A3	4.0	SQ YD	\$150.00	\$600.00	\$200.00	\$800.00	\$400.00	\$1,600.00	\$250.00	\$1,000.00
23	28200200	FILTER FABRIC	4.0	SQ YD	\$5.00	\$20.00	\$25.00	\$100.00	\$25.00	\$300.00	\$32.00	\$128.00
24	30300112	AGGREGATE SUBGRADE IMPROVEMENT 12"	410.0	SQ YD	\$30.00	\$12,300.00	\$19.00	\$7,790.00	\$32.50	\$13,325.00	\$30.00	\$12,300.00
25	35101400	AGGREGATE BASE COURSE, TYPE B	323.0	TON	\$60.00	\$19,380.00	\$45.00	\$14,535.00	\$66.00	\$21,318.00	\$25.00	\$8,075.00
26	35101600	AGGREGATE BASE COURSE, TYPE B 4"	4,260.0	SQ YD	\$12.00	\$51,120.00	\$9.00	\$38,340.00	\$14.75	\$62,835.00	\$12.00	\$51,120.00
27	35101800	AGGREGATE BASE COURSE, TYPE B 6"	9,822.0	SQ YD	\$14.00	\$137,508.00	\$12.00	\$117,864.00	\$18.50	\$181,707.00	\$15.00	\$147,330.00
28	40600275	BITUMINOUS MATERIALS (PRIME COAT)	4,228.0	POUND	\$1.00	\$4,228.00	\$0.01	\$42.28	\$0.01	\$42.28	\$0.01	\$42.28
29	40600290	BITUMINOUS MATERIALS (TACK COAT)	876.0	POUND	\$1.00	\$876.00	\$0.01	\$8.76	\$0.01	\$8.76	\$0.01	\$8.76
30	40604060	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	1,610.0	TON	\$120.00	\$193,200.00	\$140.00	\$225,400.00	\$129.00	\$207,690.00	\$130.00	\$209,300.00
31	42001300	PROTECTIVE COAT	4,230.0	SQ YD	\$1.00	\$4,230.00	\$1.00	\$4,230.00	\$2.20	\$9,306.00	\$1.00	\$4,230.00
32	42300400	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 8 INCH	137.0	SQ YD	\$150.00	\$20,550.00	\$135.00	\$18,495.00	\$100.00	\$13,700.00	\$105.00	\$14,385.00
33	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	31,509.0	SQ FT	\$10.00	\$315,090.00	\$12.00	\$378,108.00	\$8.00	\$252,072.00	\$12.00	\$378,108.00
34	42400800	DETECTABLE WARNINGS	545.0	SQ FT	\$50.00	\$27,250.00	\$38.00	\$20,710.00	\$42.00	\$22,890.00	\$60.00	\$32,700.00
35	44000100	PAVEMENT REMOVAL	254.0	SQ YD	\$20.00	\$5,080.00	\$20.00	\$5,080.00	\$22.00	\$5,588.00	\$30.00	\$7,620.00
36	44000200	DRIVEWAY PAVEMENT REMOVAL	772.0	SQ YD	\$20.00	\$15,440.00	\$15.00	\$11,580.00	\$13.50	\$10,422.00	\$20.00	\$15,440.00
37	44000500	COMBINATION CURB AND GUTTER REMOVAL	2,617.0	FOOT	\$10.00	\$26,170.00	\$7.00	\$18,319.00	\$8.00	\$20,936.00	\$10.00	\$26,170.00
38	44000600	SIDEWALK REMOVAL	21,323.0	SQ FT	\$4.00	\$85,292.00	\$2.00	\$42,646.00	\$1.50	\$31,984.50	\$3.00	\$63,969.00
39	44004250	PAVED SHOULDER REMOVAL	1,362.0	SQ YD	\$20.00	\$27,240.00	\$17.00	\$23,154.00	\$15.00	\$20,430.00	\$20.00	\$27,240.00
40	44201335	CLASS C PATCHES, TYPE IV, 8 INCH	178.0	SQ YD	\$200.00	\$35,600.00	\$130.00	\$23,140.00	\$85.00	\$15,130.00	\$180.00	\$32,040.00
41	44201747	CLASS D PATCHES, TYPE IV, 8 INCH	392.3	SQ YD	\$200.00	\$78,460.00	\$90.00	\$35,307.00	\$115.00	\$45,114.50	\$110.00	\$45,114.50
42	50200100	STRUCTURE EXCAVATION	463.0	CU YD	\$50.00	\$23,150.00	\$59.00	\$27,317.00	\$61.00	\$28,243.00	\$55.00	\$25,465.00
		REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL FOR										
43	50200450	STRUCTURES	107.0	CU YD	\$50.00	\$5,550.00	\$60.00	\$6,420.00	\$76.00	\$8,132.00	\$75.00	\$8,025.00
44	50300225	CONCRETE STRUCTURES	25.0	CU YD	\$1,150.00	\$28,750.00	\$2,000.00	\$50,000.00	\$2,465.00	\$61,625.00	\$2,300.00	\$57,500.00
45	50300285	FORM LINER TEXTURED SURFACE	2,914.0	SQ FT	\$20.00							

Item No.	Pay Code	Description	Quantity	Unit	Eng Unit Price	Copenhaver Construction, Inc.	Berger Contractors, Inc.	Acura Inc	Lorig Construction Company	Alamp Concrete Contractors, Inc.	D'Land Construction LLC	Campanella & Sons, Inc.
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
70	60218400	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	5.0	EACH	\$4,500.00	\$22,500.00	\$5,000.00	\$25,000.00	\$4,400.00	\$22,000.00	\$5,500.00	\$27,500.00
71	60223800	MANHOLES, TYPE A, 6'-DIAMETER, TYPE 1 FRAME, CLOSED LID	2.0	EACH	\$8,000.00	\$16,000.00	\$7,000.00	\$14,000.00	\$9,000.00	\$18,000.00	\$7,500.00	\$15,000.00
72	60253100	CLOSED LID	1.0	EACH	\$2,000.00	\$2,000.00	\$1,200.00	\$1,200.00	\$1,095.00	\$1,095.00	\$2,500.00	\$2,500.00
73	60255500	MANHOLES TO BE ADJUSTED	3.0	EACH	\$750.00	\$2,250.00	\$800.00	\$2,400.00	\$685.00	\$2,055.00	\$1,500.00	\$4,500.00
74	60255800	LID	1.0	EACH	\$1,000.00	\$1,000.00	\$900.00	\$900.00	\$1,325.00	\$1,325.00	\$1,850.00	\$1,850.00
75	60257900	MANHOLES TO BE RECONSTRUCTED	1.0	EACH	\$2,500.00	\$2,500.00	\$1,600.00	\$1,600.00	\$2,375.00	\$2,375.00	\$2,500.00	\$2,500.00
76	60266600	VALVE BOXES TO BE ADJUSTED	6.0	EACH	\$750.00	\$4,500.00	\$300.00	\$1,800.00	\$285.00	\$1,710.00	\$750.00	\$4,500.00
77	60500040	REMOVING MANHOLES	1.0	EACH	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$435.00	\$1,000.00	\$1,900.00	\$1,900.00
78	60500060	REMOVING INLETS	7.0	EACH	\$500.00	\$3,500.00	\$400.00	\$2,800.00	\$325.00	\$2,275.00	\$100.00	\$700.00
79	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	420.0	FOOT	\$40.00	\$16,800.00	\$40.00	\$16,800.00	\$48.00	\$20,160.00	\$50.00	\$21,000.00
80	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	2,148.0	FOOT	\$60.00	\$128,880.00	\$41.00	\$88,068.00	\$54.00	\$115,992.00	\$50.00	\$107,400.00
81	63000007	STEEL PLATE BEAM GUARDRAIL, TYPE B, 6 FOOT POSTS	1,574.0	FOOT	\$50.00	\$78,700.00	\$56.00	\$88,144.00	\$66.50	\$104,671.00	\$67.00	\$105,458.00
82	63100167	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	4.0	EACH	\$3,500.00	\$14,000.00	\$4,000.00	\$16,000.00	\$3,941.00	\$15,764.00	\$4,000.00	\$16,000.00
83	63200310	GUARDRAIL REMOVAL	379.0	FOOT	\$15.00	\$5,685.00	\$12.00	\$4,548.00	\$9.00	\$3,411.00	\$10.00	\$3,790.00
84	66900200	NON-SPECIAL WASTE DISPOSAL	550.0	CU YD	\$150.00	\$82,500.00	\$90.00	\$49,500.00	\$77.00	\$42,350.00	\$85.00	\$46,750.00
85	66901001	REGULATED SUBSTANCES PRE-CONSTRUCTION PLAN	1.0	L SUM	\$7,000.00	\$7,000.00	\$5,000.00	\$5,000.00	\$3,950.00	\$3,950.00	\$25,000.00	\$25,000.00
86	66901003	REGULATED SUBSTANCES FINAL CONSTRUCTION REPORT	1.0	L SUM	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	\$600.00	\$600.00	\$2,000.00	\$2,000.00
87	66901006	REGULATED SUBSTANCES MONITORING	100.0	CAL DA	\$800.00	\$80,000.00	\$400.00	\$40,000.00	\$70.00	\$7,000.00	\$750.00	\$7,000.00
88	67100100	MOBILIZATION	1.0	L SUM	\$250,000.00	\$250,000.00	\$289,200.00	\$289,200.00	\$289,000.00	\$302,178.27	\$300,000.00	\$300,000.00
89	70107025	CHANGEABLE MESSAGE SIGN	448.0	CAL DA	\$30.00	\$13,440.00	\$41.00	\$18,368.00	\$27.00	\$12,096.00	\$38.00	\$17,024.00
90	72800100	TELESCOPING STEEL SIGN SUPPORT	320.0	FOOT	\$25.00	\$8,000.00	\$19.00	\$6,080.00	\$7.00	\$2,240.00	\$16.00	\$5,120.00
91	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	80.0	SQ FT	\$5.00	\$400.00	\$7.00	\$560.00	\$5.75	\$460.00	\$5.75	\$460.00
92	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	212.0	FOOT	\$1.00	\$212.00	\$2.00	\$424.00	\$1.22	\$258.64	\$1.22	\$258.64
93	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	3,252.0	FOOT	\$2.00	\$6,504.00	\$2.00	\$6,504.00	\$1.85	\$6,016.20	\$1.85	\$5,040.60
94	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	1,033.0	FOOT	\$2.00	\$2,066.00	\$4.00	\$4,132.00	\$3.85	\$3,977.05	\$3.85	\$3,999.00
95	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	134.0	FOOT	\$4.00	\$536.00	\$8.00	\$1,072.00	\$5.75	\$770.50	\$5.75	\$770.50
96	78009000	MODIFIED URETHANE PAVEMENT MARKING - LETTERS AND SYMBOLS	120.0	SQ FT	\$5.00	\$600.00	\$10.00	\$1,200.00	\$9.00	\$1,080.00	\$11.00	\$1,320.00
97	78009004	MODIFIED URETHANE PAVEMENT MARKING - LINE 4"	1,485.0	FOOT	\$1.00	\$1,485.00	\$3.00	\$4,455.00	\$2.25	\$3,341.25	\$1.65	\$2,450.25
98	78009005	MODIFIED URETHANE PAVEMENT MARKING - LINE 5"	354.0	FOOT	\$2.00	\$708.00	\$3.00	\$1,062.00	\$2.64	\$934.56	\$2.64	\$934.56
99	78009006	MODIFIED URETHANE PAVEMENT MARKING - LINE 6"	1,710.0	FOOT	\$2.00	\$3,420.00	\$3.00	\$5,130.00	\$2.93	\$5,010.30	\$2.93	\$5,010.30
100	78009012	MODIFIED URETHANE PAVEMENT MARKING - LINE 12"	788.0	FOOT	\$4.00	\$1,512.00	\$6.00	\$4,728.00	\$5.60	\$4,412.80	\$5.60	\$4,334.00
101	78009024	MODIFIED URETHANE PAVEMENT MARKING - LINE 24"	244.0	FOOT	\$8.00	\$1,952.00	\$12.00	\$2,928.00	\$9.00	\$2,196.00	\$11.00	\$2,684.00
102	78011025	GROOVING FOR RECESSED PAVEMENT MARKING 5"	1,697.0	FOOT	\$1.00	\$1,697.00	\$1.00	\$1,697.00	\$0.85	\$1,442.45	\$0.85	\$1,442.45
103	78011030	GROOVING FOR RECESSED PAVEMENT MARKING 6"	354.0	FOOT	\$2.00	\$708.00	\$1.00	\$354.00	\$0.92	\$325.68	\$0.92	\$325.68
104	78011035	GROOVING FOR RECESSED PAVEMENT MARKING 7"	3,201.0	FOOT	\$2.00	\$6,402.00	\$1.00	\$3,201.00	\$0.99	\$3,168.99	\$0.99	\$3,168.99
105	78011065	GROOVING FOR RECESSED PAVEMENT MARKING 13"	1,821.0	FOOT	\$2.00	\$3,642.00	\$2.00	\$3,642.00	\$1.95	\$3,550.95	\$3.00	\$5,463.00
106	78011125	GROOVING FOR RECESSED PAVEMENT MARKING 25"	378.0	FOOT	\$4.00	\$1,512.00	\$5.00	\$1,890.00	\$4.20	\$1,587.60	\$7.00	\$2,646.00
107	78300202	PAVEMENT MARKING REMOVAL - WATER BLASTING	4,210.0	SQ FT	\$2.00	\$8,420.00	\$2.00	\$8,420.00	\$1.35	\$5,683.50	\$1.35	\$5,683.50
108	81028200	UNDERGROUND CONDUIT, GALVANIZED STEEL, 2" DIA.	197.0	FOOT	\$35.00	\$6,895.00	\$42.00	\$8,274.00	\$38.00	\$7,486.00	\$38.00	\$7,486.00
109	81028220	UNDERGROUND CONDUIT, GALVANIZED STEEL, 3" DIA.	83.0	FOOT	\$40.00	\$3,320.00	\$60.00	\$4,980.00	\$52.60	\$4,365.80	\$52.60	\$4,365.80
110	81028240	UNDERGROUND CONDUIT, GALVANIZED STEEL, 4" DIA.	380.0	FOOT	\$70.00	\$26,600.00	\$100.00	\$38,000.00	\$91.40	\$34,732.00	\$91.40	\$34,732.00
111	81400100	HANDHOLE	1.0	EACH	\$2,500.00	\$2,500.00	\$3,400.00	\$3,400.00	\$3,107.00	\$3,107.00	\$3,200.00	\$3,200.00
112	81400300	DOUBLE HANDHOLE	1.0	EACH	\$3,500.00	\$3,500.00	\$5,500.00	\$5,500.00	\$4,917.00	\$4,917.00	\$5,000.00	\$5,000.00
113	85000200	MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	2.0	EACH	\$5,000.00	\$10,000.00	\$12,000.00	\$24,000.00	\$11,600.00	\$23,200.00	\$11,600.00	\$23,200.00
114	87301215	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 2C	2,392.0	FOOT	\$1.50	\$3,588.00	\$4.00	\$9,568.00	\$3.30	\$7,893.60	\$3.40	\$8,132.80
115	87301225	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 3C	1,891.0	FOOT	\$2.00	\$3,782.00	\$4.00	\$7,564.00	\$3.40	\$6,429.40	\$3.50	\$6,618.50
116	87301805	ELECTRIC CABLE IN CONDUIT, SERVICE, NO. 6 2C	5.0	FO								

Item No.	Pay Code	Description	Quantity	Unit	Eng Unit Price		Copenhaver Construction, Inc.		Berger Contractors, Inc.		Acura Inc		Lorig Construction Company		Alamp Concrete Contractors, Inc.		D'Land Construction LLC		Campanella & Sons, Inc.	
					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
146	X4022000	TEMPORARY ACCESS (COMMERCIAL ENTRANCE)	5.0	EACH	\$500.00	\$2,500.00	\$150.00	\$750.00	\$1,180.00	\$5,900.00	\$1,500.00	\$7,500.00	\$1,500.00	\$7,500.00	\$400.00	\$2,000.00	\$600.00	\$3,000.00	\$943.00	\$4,715.00
147	X5091725	BICYCLE RAILING (SPECIAL)	1,238.0	FOOT	\$200.00	\$247,600.00	\$97.00	\$120,086.00	\$154.26	\$190,973.88	\$155.00	\$191,890.00	\$230.00	\$284,740.00	\$154.26	\$190,973.88	\$170.00	\$210,460.00	\$154.30	\$191,023.40
148	X5427602	REMOVE EXISTING FLARED END SECTION	17.0	EACH	\$300.00	\$5,100.00	\$300.00	\$5,100.00	\$400.00	\$6,800.00	\$500.00	\$8,500.00	\$500.00	\$8,500.00	\$325.00	\$5,525.00	\$200.00	\$3,400.00	\$743.90	\$12,646.30
149	X6026051	SANITARY MANHOLES TO BE RECONSTRUCTED	1.0	EACH	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00	\$3,500.00	\$3,500.00	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$2,625.00	\$2,625.00	\$3,000.00	\$3,000.00	\$3,047.00	\$3,047.00
150	X6030310	FRAMES AND LIDS TO BE ADJUSTED (SPECIAL)	24.0	EACH	\$1,000.00	\$24,000.00	\$700.00	\$16,800.00	\$1,200.00	\$28,800.00	\$1,850.00	\$44,400.00	\$1,400.00	\$33,600.00	\$900.00	\$21,600.00	\$1,250.00	\$30,000.00	\$835.00	\$20,040.00
151	X6050174	PLUG EXISTING SEWERS	1.0	CU YD	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$2,050.00	\$2,050.00	\$1,500.00	\$1,500.00	\$900.00	\$900.00	\$925.00	\$925.00	\$1,250.00	\$1,250.00	\$2,304.20	\$2,304.20
152	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	9.0	CAL MO	\$3,000.00	\$27,000.00	\$4,000.00	\$36,000.00	\$4,200.00	\$37,800.00	\$5,000.00	\$45,000.00	\$3,700.00	\$33,300.00	\$31,500.00	\$3,000.00	\$27,000.00	\$4,500.00	\$40,500.00	
153	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$250,000.00	\$250,000.00	\$242,000.00	\$242,000.00	\$359,000.00	\$359,000.00	\$150,000.00	\$150,000.00	\$450,000.00	\$450,000.00	\$165,000.00	\$165,000.00	\$90,000.00	\$90,000.00	\$38,675.00	\$38,675.00
154	X7200061	TEMPORARY INFORMATION SIGNING	51.4	SQ FT	\$25.00	\$1,285.00	\$22.00	\$1,130.80	\$12.00	\$616.80	\$18.00	\$925.20	\$20.00	\$1,028.00	\$35.00	\$1,799.00	\$13.00	\$668.20	\$18.00	\$925.20
155	X8100863	INTERCEPT EXISTING CONDUIT	1.0	EACH	\$1,600.00	\$1,600.00	\$1,000.00	\$1,000.00	\$775.00	\$775.00	\$775.00	\$775.00	\$775.00	\$775.00	\$775.00	\$775.00	\$775.00	\$775.00	\$775.00	
156	X8140115	HANDHOLE TO BE ADJUSTED	6.0	EACH	\$1,600.00	\$9,600.00	\$4,000.00	\$24,000.00	\$3,767.00	\$22,602.00	\$3,767.00	\$22,602.00	\$3,800.00	\$22,800.00	\$3,767.00	\$22,602.00	\$3,767.00	\$22,602.00	\$3,767.00	\$22,602.00
157	X8760200	ACCESSIBLE PEDESTRIAN SIGNALS	8.0	EACH	\$2,000.00	\$16,000.00	\$3,300.00	\$26,400.00	\$2,937.00	\$23,496.00	\$2,937.00	\$23,496.00	\$3,000.00	\$24,000.00	\$2,937.00	\$23,496.00	\$2,937.00	\$23,496.00	\$2,937.00	\$23,496.00
158	X8780012	CONCRETE FOUNDATION, TYPE A 12-INCH DIAMETER	20.0	FOOT	\$350.00	\$7,000.00	\$340.00	\$6,800.00	\$316.50	\$6,330.00	\$316.50	\$6,330.00	\$325.00	\$6,500.00	\$316.50	\$6,330.00	\$316.50	\$6,330.00	\$316.50	\$6,330.00
159	X8891009	VIDEO VEHICLE DETECTION SYSTEM, SINGLE APPROACH	2.0	EACH	\$30,000.00	\$60,000.00	\$10,000.00	\$20,000.00	\$9,398.00	\$18,796.00	\$9,398.00	\$18,796.00	\$10,000.00	\$20,000.00	\$9,398.00	\$18,796.00	\$9,398.00	\$18,796.00	\$9,398.00	\$18,796.00
160	XX000856	MAILBOX REMOVAL AND RELOCATION	5.0	EACH	\$200.00	\$1,000.00	\$300.00	\$1,500.00	\$675.00	\$3,375.00	\$500.00	\$2,500.00	\$450.00	\$2,250.00	\$250.00	\$1,250.00	\$2,090.00	\$10,450.00	\$508.15	\$2,540.75
161	XX006658	FLOCCULATION LOGS	5.0	EACH	\$150.00	\$750.00	\$300.00	\$1,500.00	\$250.00	\$1,250.00	\$250.00	\$1,250.00	\$1.00	\$5.00	\$1.00	\$5.00	\$275.00	\$1,375.00	\$100.00	\$500.00
162	XX006659	FLOCCULATION POWDER	5.0	POUND	\$100.00	\$500.00	\$50.00	\$250.00	\$50.00	\$250.00	\$50.00	\$250.00	\$1.00	\$5.00	\$1.00	\$5.00	\$55.00	\$275.00	\$20.00	\$100.00
163	XX006729	PERIMETER EROSION BARRIER, ROLLED EXCELSIOR	8,260.0	FOOT	\$5.00	\$41,300.00	\$2.00	\$16,520.00	\$5.00	\$41,300.00	\$5.00	\$41,300.00	\$5.00	\$41,300.00	\$5.00	\$41,300.00	\$5.50	\$45,430.00	\$8.00	\$66,080.00
164	XX008865	PERMEABLE PLASTIC BERM	126.0	FOOT	\$12.00	\$1,512.00	\$15.00	\$1,890.00	\$26.00	\$3,276.00	\$26.00	\$3,276.00	\$15.00	\$1,890.00	\$15.00	\$1,890.00	\$29.00	\$3,654.00	\$16.00	\$2,016.00
165	Z0013797	STABILIZED CONSTRUCTION ENTRANCE	120.0	SQ YD	\$25.00	\$3,000.00	\$0.01	\$1.20	\$64.00	\$7,680.00	\$45.00	\$5,400.00	\$3.00	\$360.00	\$28.00	\$3,360.00	\$38.00	\$4,560.00	\$0.01	\$1.20
166	Z0033046	RE-OPTIMIZE TRAFFIC SIGNAL SYSTEM LEVEL 2	1.0	EACH	\$3,000.00	\$3,000.00	\$2,400.00	\$2,400.00	\$2,090.00	\$2,090.00	\$2,090.00	\$2,090.00	\$2,200.00	\$2,200.00	\$2,090.00	\$2,090.00	\$0.00	\$0.00	\$2,090.00	\$2,090.00
167	Z0040530	PIPE UNDERDRAIN REMOVAL	10.0	FOOT	\$20.00	\$200.00	\$20.00	\$200.00	\$12.00	\$120.00	\$50.00	\$500.00	\$18.00	\$180.00	\$80.00	\$800.00	\$15.00	\$150.00	\$35.00	\$350.00
168	Z0051500	REMOVING AND RESETTING STREET SIGNS	22.0	EACH	\$300.00	\$6,600.00	\$250.00	\$5,500.00	\$250.00	\$5,500.00	\$220.00	\$4,840.00	\$250.00	\$5,500.00	\$250.00	\$5,500.00	\$275.00	\$6,050.00	\$220.00	\$4,840.00
169	Z0056648	STORM SEWERS, TYPE 1, WATER MAIN QUALITY PIPE, 12"	209.0	FOOT	\$150.00	\$31,350.00	\$140.00	\$29,260.00	\$105.00	\$21,945.00	\$200.00	\$41,800.00	\$80.00	\$16,720.00	\$125.00	\$26,125.00	\$135.00	\$28,215.00	\$92.75	\$19,384.75
					Total	\$5,094,857.00		\$4,421,079.17		\$4,873,814.82		\$5,036,304.56		\$5,095,361.39		\$5,147,912.34		\$5,281,421.16		\$5,359,516.20



Return Bid Details

Project: Washington Street Bike Path
Section: 21-00110-15-BT

CPMS Pin: B-01419a
Let Date: December 09, 2025

Description: The work consists of a new bike path along the south side of Washington Street from Mainsail Drive to US 45 and on the north side of Washington Street from US 45 to Almond Road as well as new sidewalk along the north side of Washington Street from Sextant Drive to Mainsail Drive and along the South side of Washington Street from Tanqueray Drive to Almond Road. The proposed improvements will also include upgrade of sidewalk corners to current ADA requirements, spot concrete curb and gutter removal and construction, and retaining walls where needed. In addition, landscaping items, tree planting, pavement patching, frame and lid adjustments, storm sewer, and pavement markings and all associated work necessary to complete the project as shown on the plans and as described herein.

Item No.	Pay Code	Description	Quantity	Unit	Eng Unit Price		Min. Bid Price	Max. Bid Price	Avg. Bid Price
					Unit Price	Extnd. Price			
1	20100110	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	251.0	UNIT	\$50.00	\$12,550.00	\$18.00	\$60.00	\$24.86
2	20100210	TREE REMOVAL (OVER 15 UNITS DIAMETER)	91.0	UNIT	\$100.00	\$9,100.00	\$29.00	\$75.00	\$36.57
3	20101100	TREE TRUNK PROTECTION	38.0	EACH	\$128.00	\$4,864.00	\$100.00	\$200.00	\$151.57
4	20101200	TREE ROOT PRUNING	5.0	EACH	\$100.00	\$500.00	\$50.00	\$150.00	\$65.00
5	20101700	SUPPLEMENTAL WATERING	163.0	UNIT	\$10.00	\$1,630.00	\$0.01	\$50.00	\$7.62
6	20200100	EARTH EXCAVATION	3625.0	CU YD	\$75.00	\$271,875.00	\$25.00	\$160.00	\$55.79
7	20201200	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	2167.0	CU YD	\$75.00	\$162,525.00	\$0.01	\$62.00	\$35.00
8	20400800	FURNISHED EXCAVATION	1698.0	CU YD	\$50.00	\$84,900.00	\$0.01	\$35.00	\$12.43
9	20800150	TRENCH BACKFILL	220.0	CU YD	\$40.00	\$8,800.00	\$35.00	\$123.20	\$64.81
10	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	3142.0	SQ YD	\$2.00	\$6,284.00	\$1.50	\$4.50	\$2.99
11	21101615	TOPSOIL FURNISH AND PLACE, 4"	19884.0	SQ YD	\$8.00	\$159,072.00	\$4.00	\$8.80	\$5.38
12	21101685	TOPSOIL FURNISH AND PLACE, 24"	1990.0	SQ YD	\$30.00	\$59,700.00	\$20.00	\$37.90	\$29.30
13	21301052	EXPLORATION TRENCH 52" DEPTH	100.0	FOOT	\$50.00	\$5,000.00	\$12.00	\$120.00	\$42.29
14	25000312	SEEDING, CLASS 4A	4.5	ACRE	\$10,000.00	\$45,000.00	\$2,547.00	\$5,000.00	\$4,476.71
15	25000400	NITROGEN FERTILIZER NUTRIENT	407.0	POUND	\$3.00	\$1,221.00	\$1.00	\$3.30	\$2.19
16	25000600	POTASSIUM FERTILIZER NUTRIENT	407.0	POUND	\$3.00	\$1,221.00	\$1.00	\$3.30	\$2.19
17	25100630	EROSION CONTROL BLANKET	21874.0	SQ YD	\$3.00	\$65,622.00	\$1.30	\$2.00	\$1.77
18	28000305	TEMPORARY DITCH CHECKS	126.0	FOOT	\$25.00	\$3,150.00	\$5.60	\$16.50	\$13.16
19	28000400	PERIMETER EROSION BARRIER	2736.0	FOOT	\$5.00	\$13,680.00	\$2.85	\$5.40	\$3.59
20	28000500	INLET AND PIPE PROTECTION	23.0	EACH	\$175.00	\$4,025.00	\$125.00	\$330.00	\$216.14
21	28000510	INLET FILTERS	63.0	EACH	\$150.00	\$9,450.00	\$15.00	\$346.00	\$198.00
22	28100105	STONE RIPRAP, CLASS A3	4.0	SQ YD	\$150.00	\$600.00	\$145.00	\$400.00	\$260.33
23	28200200	FILTER FABRIC	4.0	SQ YD	\$5.00	\$20.00	\$25.00	\$122.00	\$52.57
24	30300112	AGGREGATE SUBGRADE IMPROVEMENT 12"	410.0	SQ YD	\$30.00	\$12,300.00	\$19.00	\$93.80	\$38.19
25	35101400	AGGREGATE BASE COURSE, TYPE B	323.0	TON	\$60.00	\$19,380.00	\$25.00	\$90.00	\$53.64
26	35101600	AGGREGATE BASE COURSE, TYPE B 4"	4260.0	SQ YD	\$12.00	\$51,120.00	\$4.00	\$17.00	\$11.80
27	35101800	AGGREGATE BASE COURSE, TYPE B 6"	9822.0	SQ YD	\$14.00	\$137,508.00	\$10.00	\$21.00	\$15.56
28	40600275	BITUMINOUS MATERIALS (PRIME COAT)	4228.0	POUND	\$1.00	\$4,228.00	\$0.01	\$0.01	\$0.01
29	40600290	BITUMINOUS MATERIALS (TACK COAT)	876.0	POUND	\$1.00	\$876.00	\$0.01	\$0.01	\$0.01
30	40604060	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	1610.0	TON	\$120.00	\$193,200.00	\$129.00	\$142.00	\$133.43
31	42001300	PROTECTIVE COAT	4230.0	SQ YD	\$1.00	\$4,230.00	\$0.50	\$2.50	\$1.57
32	42300400	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 8 INCH	137.0	SQ YD	\$150.00	\$20,550.00	\$93.00	\$135.00	\$105.00
33	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	31509.0	SQ FT	\$10.00	\$315,090.00	\$8.00	\$12.00	\$9.66
34	42400800	DETECTABLE WARNINGS	545.0	SQ FT	\$50.00	\$27,250.00	\$38.00	\$100.00	\$51.43
35	44000100	PAVEMENT REMOVAL	254.0	SQ YD	\$20.00	\$5,080.00	\$16.00	\$40.00	\$23.91
36	44000200	DRIVEWAY PAVEMENT REMOVAL	772.0	SQ YD	\$20.00	\$15,440.00	\$13.50	\$21.00	\$17.01
37	44000500	COMBINATION CURB AND GUTTER REMOVAL	2617.0	FOOT	\$10.00	\$26,170.00	\$7.00	\$16.00	\$9.92
38	44000600	SIDEWALK REMOVAL	21323.0	SQ FT	\$4.00	\$85,292.00	\$1.25	\$3.00	\$1.86
39	44004250	PAVED SHOULDER REMOVAL	1362.0	SQ YD	\$20.00	\$27,240.00	\$6.45	\$20.00	\$15.21
40	44201335	CLASS C PATCHES, TYPE IV, 8 INCH	178.0	SQ YD	\$200.00	\$35,600.00	\$70.00	\$200.00	\$128.86
41	44201747	CLASS D PATCHES, TYPE IV, 8 INCH	392.3	SQ YD	\$200.00	\$78,460.00	\$50.00	\$118.00	\$100.71
42	50200100	STRUCTURE EXCAVATION	463.0	CU YD	\$50.00	\$23,150.00	\$29.00	\$100.00	\$53.71

Item No.	Pay Code	Description	Quantity	Unit	Eng Unit Price		Min. Bid Price	Max. Bid Price	Avg. Bid Price
					Unit Price	Extnd. Price			
43	50200450	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL FOR STRUCTURES	107.0	CU YD	\$50.00	\$5,350.00	\$60.00	\$93.00	\$77.29
44	50300225	CONCRETE STRUCTURES	25.0	CU YD	\$1,150.00	\$28,750.00	\$2,000.00	\$3,850.00	\$2,668.57
45	50300285	FORM LINER TEXTURED SURFACE	2914.0	SQ FT	\$20.00	\$58,280.00	\$7.50	\$37.00	\$20.00
46	50500505	STUD SHEAR CONNECTORS	672.0	EACH	\$5.00	\$3,360.00	\$15.00	\$45.00	\$24.50
47	50800205	REINFORCEMENT BARS, EPOXY COATED	26130.0	POUND	\$3.00	\$78,390.00	\$1.91	\$3.00	\$2.19
48	52200100	FURNISHING SOLDIER PILES (HP SECTION)	2258.0	FOOT	\$100.00	\$225,800.00	\$110.00	\$360.25	\$216.11
49	52200150	DRIVING SOLDIER PILES	2258.0	FOOT	\$4.00	\$9,032.00	\$0.01	\$49.25	\$14.36
50	52200250	UNTREATED TIMBER LAGGING	4308.0	SQ FT	\$20.00	\$86,160.00	\$14.00	\$27.50	\$18.50
51	52200900	CONCRETE STRUCTURES (RETAINING WALL)	185.0	CU YD	\$2,000.00	\$370,000.00	\$1,750.00	\$2,640.00	\$2,288.57
52	54213657	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 12"	8.0	EACH	\$1,000.00	\$8,000.00	\$1,550.00	\$3,425.00	\$2,232.43
53	54213669	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 24"	1.0	EACH	\$2,000.00	\$2,000.00	\$2,050.00	\$4,310.00	\$2,968.57
54	550A0050	STORM SEWERS, CLASS A, TYPE 1 12"	385.0	FOOT	\$125.00	\$48,125.00	\$67.00	\$130.00	\$95.14
55	550A0120	STORM SEWERS, CLASS A, TYPE 1 24"	82.0	FOOT	\$175.00	\$14,350.00	\$105.00	\$176.00	\$141.99
56	550A0360	STORM SEWERS, CLASS A, TYPE 2 15"	72.0	FOOT	\$130.00	\$9,360.00	\$76.00	\$176.00	\$109.88
57	550A0380	STORM SEWERS, CLASS A, TYPE 2 18"	181.0	FOOT	\$140.00	\$25,340.00	\$80.00	\$150.00	\$114.09
58	550A0410	STORM SEWERS, CLASS A, TYPE 2 24"	207.0	FOOT	\$175.00	\$36,225.00	\$98.00	\$187.00	\$144.28
59	55100500	STORM SEWER REMOVAL 12"	215.0	FOOT	\$25.00	\$5,375.00	\$1.00	\$46.00	\$19.57
60	55100700	STORM SEWER REMOVAL 15"	35.0	FOOT	\$25.00	\$875.00	\$1.00	\$57.00	\$24.43
61	56400300	FIRE HYDRANTS TO BE ADJUSTED	1.0	EACH	\$1,000.00	\$1,000.00	\$800.00	\$7,500.00	\$2,802.97
62	58600101	GRANULAR BACKFILL FOR STRUCTURES	18.0	CU YD	\$80.00	\$1,440.00	\$100.00	\$750.00	\$272.71
63	59100100	GEOCOMPOSITE WALL DRAIN	748.0	SQ YD	\$25.00	\$18,700.00	\$20.00	\$42.00	\$31.07
64	60100905	PIPE DRAINS 4"	100.0	FOOT	\$30.00	\$3,000.00	\$12.00	\$40.00	\$25.43
65	60100915	PIPE DRAINS 6"	100.0	FOOT	\$30.00	\$3,000.00	\$15.00	\$50.00	\$29.43
66	60108104	PIPE UNDERDRAINS, TYPE 1, 4"	919.3	FOOT	\$20.00	\$18,386.00	\$5.70	\$45.00	\$19.81
67	60146304	PIPE UNDERDRAINS FOR STRUCTURES 4"	1241.0	FOOT	\$50.00	\$62,050.00	\$15.00	\$43.00	\$31.50
68	60200805	CATCH BASINS, TYPE A, 4'-DIAMETER, TYPE 8 GRATE	6.0	EACH	\$3,500.00	\$21,000.00	\$3,000.00	\$5,000.00	\$4,383.27
69	60207605	CATCH BASINS, TYPE C, TYPE 8 GRATE	4.0	EACH	\$2,000.00	\$8,000.00	\$1,500.00	\$3,500.00	\$2,258.05
70	60218400	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	5.0	EACH	\$4,500.00	\$22,500.00	\$3,400.00	\$5,818.00	\$4,822.66
71	60223800	MANHOLES, TYPE A, 6'-DIAMETER, TYPE 1 FRAME, CLOSED LID	2.0	EACH	\$8,000.00	\$16,000.00	\$7,000.00	\$11,980.80	\$8,864.40
72	60253100	CLOSED LID	1.0	EACH	\$2,000.00	\$2,000.00	\$1,095.00	\$2,603.15	\$1,892.59
73	60255500	MANHOLES TO BE ADJUSTED	3.0	EACH	\$750.00	\$2,250.00	\$575.00	\$1,500.00	\$778.90
74	60255800	MANHOLES TO BE ADJUSTED WITH NEW TYPE 1 FRAME, CLOSED LID	1.0	EACH	\$1,000.00	\$1,000.00	\$900.00	\$1,850.00	\$1,204.64
75	60257900	MANHOLES TO BE RECONSTRUCTED	1.0	EACH	\$2,500.00	\$2,500.00	\$650.00	\$2,500.00	\$1,863.29
76	60266600	VALVE BOXES TO BE ADJUSTED	6.0	EACH	\$750.00	\$4,500.00	\$285.00	\$750.00	\$417.29
77	60500040	REMOVING MANHOLES	1.0	EACH	\$500.00	\$500.00	\$435.00	\$1,900.00	\$885.14
78	60500060	REMOVING INLETS	7.0	EACH	\$500.00	\$3,500.00	\$100.00	\$861.00	\$451.57
79	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	420.0	FOOT	\$40.00	\$16,800.00	\$35.00	\$60.00	\$45.57
80	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	2148.0	FOOT	\$60.00	\$128,880.00	\$40.00	\$60.00	\$49.89
81	63000007	STEEL PLATE BEAM GUARDRAIL, TYPE B, 6 FOOT POSTS	1574.0	FOOT	\$50.00	\$78,700.00	\$56.00	\$73.00	\$64.45
82	63100167	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	4.0	EACH	\$3,500.00	\$14,000.00	\$3,941.00	\$5,000.00	\$4,165.43
83	63200310	GUARDRAIL REMOVAL	379.0	FOOT	\$15.00	\$5,685.00	\$5.00	\$12.00	\$9.50
84	66900200	NON-SPECIAL WASTE DISPOSAL	550.0	CU YD	\$150.00	\$82,500.00	\$63.00	\$90.00	\$79.41
85	66901001	REGULATED SUBSTANCES PRE-CONSTRUCTION PLAN	1.0	L SUM	\$7,000.00	\$7,000.00	\$3,950.00	\$25,000.00	\$7,241.43
86	66901003	REGULATED SUBSTANCES FINAL CONSTRUCTION REPORT	1.0	L SUM	\$2,500.00	\$2,500.00	\$600.00	\$2,000.00	\$1,150.00
87	66901006	REGULATED SUBSTANCES MONITORING	100.0	CAL DA	\$800.00	\$80,000.00	\$70.00	\$1,155.00	\$639.29
88	67100100	MOBILIZATION	1.0	L SUM	\$250,000.00	\$250,000.00	\$250,000.00	\$500,000.00	\$319,768.32
89	70107025	CHANGEABLE MESSAGE SIGN	448.0	CAL DA	\$30.00	\$13,440.00	\$1.00	\$41.00	\$29.29
90	72800100	TELESCOPING STEEL SIGN SUPPORT	320.0	FOOT	\$25.00	\$8,000.00	\$7.00	\$25.00	\$15.81
91	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	80.0	SQ FT	\$5.00	\$400.00	\$5.75	\$7.00	\$6.05
92	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	212.0	FOOT	\$1.00	\$212.00	\$0.95	\$2.00	\$1.19
93	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	3252.0	FOOT	\$2.00	\$6,504.00	\$1.10	\$2.00	\$1.52
94	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	1033.0	FOOT	\$2.00	\$2,066.00	\$3.00	\$4.00	\$3.43
95	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	134.0	FOOT	\$4.00	\$536.00	\$5.75	\$8.00	\$6.19

Item No.	Pay Code	Description	Quantity	Unit	Eng Unit Price		Min. Bid Price	Max. Bid Price	Avg. Bid Price
					Unit Price	Extnd. Price			
96	78009000	MODIFIED URETHANE PAVEMENT MARKING - LETTERS AND SYMBOLS	120.0	SQ FT	\$5.00	\$600.00	\$7.10	\$11.00	\$8.72
97	78009004	MODIFIED URETHANE PAVEMENT MARKING - LINE 4"	1485.0	FOOT	\$1.00	\$1,485.00	\$0.90	\$3.00	\$1.71
98	78009005	MODIFIED URETHANE PAVEMENT MARKING - LINE 5"	354.0	FOOT	\$2.00	\$708.00	\$1.00	\$3.00	\$1.95
99	78009006	MODIFIED URETHANE PAVEMENT MARKING - LINE 6"	1710.0	FOOT	\$2.00	\$3,420.00	\$1.30	\$3.00	\$2.20
100	78009012	MODIFIED URETHANE PAVEMENT MARKING - LINE 12"	788.0	FOOT	\$4.00	\$3,152.00	\$3.90	\$6.00	\$4.97
101	78009024	MODIFIED URETHANE PAVEMENT MARKING - LINE 24"	244.0	FOOT	\$8.00	\$1,952.00	\$7.45	\$12.00	\$9.16
102	78011025	GROOVING FOR RECESSED PAVEMENT MARKING 5"	1697.0	FOOT	\$1.00	\$1,697.00	\$0.60	\$1.00	\$0.75
103	78011030	GROOVING FOR RECESSED PAVEMENT MARKING 6"	354.0	FOOT	\$2.00	\$708.00	\$0.70	\$1.00	\$0.83
104	78011035	GROOVING FOR RECESSED PAVEMENT MARKING 7"	3201.0	FOOT	\$2.00	\$6,402.00	\$0.75	\$1.00	\$0.89
105	78011065	GROOVING FOR RECESSED PAVEMENT MARKING 13"	1821.0	FOOT	\$2.00	\$3,642.00	\$1.95	\$3.00	\$2.29
106	78011125	GROOVING FOR RECESSED PAVEMENT MARKING 25"	378.0	FOOT	\$4.00	\$1,512.00	\$4.20	\$7.00	\$4.86
107	78300202	PAVEMENT MARKING REMOVAL - WATER BLASTING	4210.0	SQ FT	\$2.00	\$8,420.00	\$1.30	\$2.90	\$1.90
108	81028200	UNDERGROUND CONDUIT, GALVANIZED STEEL, 2" DIA.	197.0	FOOT	\$35.00	\$6,895.00	\$38.00	\$42.00	\$38.57
109	81028220	UNDERGROUND CONDUIT, GALVANIZED STEEL, 3" DIA.	83.0	FOOT	\$40.00	\$3,320.00	\$52.60	\$60.00	\$53.71
110	81028240	UNDERGROUND CONDUIT, GALVANIZED STEEL, 4" DIA.	380.0	FOOT	\$70.00	\$26,600.00	\$91.40	\$100.00	\$92.71
111	81400100	HANDHOLE	1.0	EACH	\$2,500.00	\$2,500.00	\$3,107.00	\$3,400.00	\$3,162.14
112	81400300	DOUBLE HANDHOLE	1.0	EACH	\$3,500.00	\$3,500.00	\$4,917.00	\$5,500.00	\$5,012.14
113	85000200	MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	2.0	EACH	\$5,000.00	\$10,000.00	\$11,600.00	\$12,000.00	\$11,671.43
114	87301215	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 2C	2392.0	FOOT	\$1.50	\$3,588.00	\$3.30	\$4.00	\$3.41
115	87301225	ELECTRIC CABLE IN CONDUIT, SIGNAL NO. 14 3C	1891.0	FOOT	\$2.00	\$3,782.00	\$3.40	\$4.00	\$3.50
116	87301805	ELECTRIC CABLE IN CONDUIT, SERVICE, NO. 6 2 C	5.0	FOOT	\$5.00	\$25.00	\$5.40	\$15.00	\$6.79
		ELECTRIC CABLE IN CONDUIT, EQUIPMENT GROUNDING							
117	87301900	CONDUCTOR, NO. 6 1C	968.0	FOOT	\$6.00	\$5,808.00	\$2.80	\$4.00	\$3.00
118	87500600	TRAFFIC SIGNAL POST, 10 FT.	1.0	EACH	\$2,000.00	\$2,000.00	\$1,783.00	\$2,000.00	\$1,816.43
119	87800100	CONCRETE FOUNDATION, TYPE A	4.0	FOOT	\$250.00	\$1,000.00	\$345.30	\$400.00	\$353.79
120	87900200	DRILL EXISTING HANDHOLE	7.0	EACH	\$400.00	\$2,800.00	\$677.00	\$700.00	\$683.57
121	87900205	DRILL EXISTING HEAVY DUTY HANDHOLE	1.0	EACH	\$550.00	\$550.00	\$1,007.00	\$1,100.00	\$1,033.57
		PEDESTRIAN SIGNAL HEAD, LED, 1-FACE, BRACKET MOUNTED WITH							
122	88102717	COUNTDOWN TIMER	10.0	EACH	\$1,000.00	\$10,000.00	\$630.00	\$680.00	\$640.00
123	89502210	MODIFY EXISTING CONTROLLER CABINET	1.0	EACH	\$2,000.00	\$2,000.00	\$3,215.00	\$3,500.00	\$3,267.86
124	89502350	REMOVE AND REINSTALL ELECTRIC CABLE FROM CONDUIT	3863.0	FOOT	\$3.00	\$11,589.00	\$2.00	\$2.00	\$2.00
125	89502376	REBUILD EXISTING HANDHOLE	4.0	EACH	\$1,000.00	\$4,000.00	\$3,767.00	\$4,000.00	\$3,805.00
126	89502380	REMOVE EXISTING HANDHOLE	1.0	EACH	\$500.00	\$500.00	\$660.00	\$700.00	\$671.43
		REMOVE EXISTING FLASHING BEACON INSTALLATION COMPLETE							
127	89502400	TREE, GINKGO BILOBA (GINKGO), 2-1/2" CALIPER, BALLED AND	2.0	EACH	\$2,500.00	\$5,000.00	\$2,640.00	\$3,000.00	\$2,700.00
128	A2004420	BURLAPPED	67.0	EACH	\$600.00	\$40,200.00	\$600.00	\$1,000.00	\$784.57
		TREE, QUERCUS BICOLOR (SWAMP WHITE OAK), 2-1/2" CALIPER,							
129	A2006520	BALLED AND BURLAPPED	16.0	EACH	\$600.00	\$9,600.00	\$589.00	\$1,000.00	\$752.71
		TREE, TAXODIUM DISTICHUM (COMMON BALD CYPRESS), 2-1/2"							
130	A2007620	CALIPER, BALLED AND BURLAPPED	16.0	EACH	\$600.00	\$9,600.00	\$600.00	\$1,000.00	\$734.71
131	LC200051	REJECTED LOAD TRANSPORTATION	5.0	LOAD	\$250.00	\$1,250.00	\$135.00	\$500.00	\$327.86
132	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	42186.0	UNIT	\$1.00	\$42,186.00	\$1.00	\$1.00	\$1.00
133	LC500230	GRATING FOR CONCRETE FLARED END SECTION 24"	1.0	EACH	\$500.00	\$500.00	\$1.00	\$2,500.00	\$1,176.26
134	LC600204	FENCE TO BE REMOVED AND REPLACED	111.0	FOOT	\$100.00	\$11,100.00	\$25.00	\$80.00	\$52.39
135	LC782000	GUARDRAIL REFLECTORS	63.0	EACH	\$15.00	\$945.00	\$10.00	\$12.00	\$10.43
136	LC800703	ACCESSIBLE PEDESTRIAN SIGNALS (LCDOT)	6.0	EACH	\$2,000.00	\$12,000.00	\$2,479.00	\$2,700.00	\$2,513.57
137	X0322463	CONNECTION TO EXISTING SEWER	10.0	EACH	\$1,500.00	\$15,000.00	\$200.00	\$1,700.00	\$1,167.61
138	X0324599	ROD AND CLEAN EXISTING CONDUIT	522.0	FOOT	\$1.00	\$522.00	\$0.20	\$1.00	\$0.31
139	X1400150	SERVICE INSTALLATION, GROUND MOUNTED, METERED	1.0	EACH	\$5,000.00	\$5,000.00	\$3,735.00	\$4,000.00	\$3,782.14
140	X1400367	PEDESTRIAN SIGNAL POST, 10 FT.	1.0	EACH	\$2,000.00	\$2,000.00	\$1,669.00	\$2,000.00	\$1,720.71
141	X1400378	PEDESTRIAN SIGNAL POST, 5 FT.	4.0	EACH	\$1,750.00	\$7,000.00	\$1,436.00	\$1,600.00	\$1,468.57
142	X2010514	SELECTIVE CLEARING	0.2	ACRE	\$20,000.00	\$4,000.00	\$22,000.00	\$25,000.00	\$23,171.43
143	X2070304	POROSUS GRANULAR EMBANKMENT (SPECIAL)	2172.0	CU YD	\$60.00	\$130,320.00	\$33.00	\$130.00	\$78.43
144	X2800400	PERIMETER EROSION BARRIER (SPECIAL)	176.0	FOOT	\$8.00	\$1,408.00	\$2.85	\$17.65	\$7.44
145	X4021000	TEMPORARY ACCESS (PRIVATE ENTRANCE)	6.0	EACH	\$400.00	\$2,400.00	\$150.00	\$1,025.00	\$621.00
146	X4022000	TEMPORARY ACCESS (COMMERCIAL ENTRANCE)	5.0	EACH	\$500.00	\$2,500.00	\$150.00	\$1,500.00	\$896.14
147	X5091725	BICYCLE RAILING (SPECIAL)	1238.0	FOOT	\$200.00	\$247,600.00	\$97.00	\$230.00	\$159.26

Item No.	Pay Code	Description	Quantity	Unit	Eng Unit Price		Min. Bid Price	Max. Bid Price	Avg. Bid Price
					Unit Price	Extnd. Price			
148	X5427602	REMOVE EXISTING FLARED END SECTION	17.0	EACH	\$300.00	\$5,100.00	\$200.00	\$743.90	\$424.13
149	X6026051	SANITARY MANHOLES TO BE RECONSTRUCTED	1.0	EACH	\$2,500.00	\$2,500.00	\$2,500.00	\$5,000.00	\$3,238.86
150	X6030310	FRAMES AND LIDS TO BE ADJUSTED (SPECIAL)	24.0	EACH	\$1,000.00	\$24,000.00	\$700.00	\$1,850.00	\$1,162.14
151	X6050174	PLUG EXISTING SEWERS	1.0	CU YD	\$1,000.00	\$1,000.00	\$900.00	\$2,304.20	\$1,418.46
152	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	9.0	CAL MO	\$3,000.00	\$27,000.00	\$3,000.00	\$5,000.00	\$3,985.71
153	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$250,000.00	\$250,000.00	\$38,675.00	\$450,000.00	\$213,525.00
154	X7200061	TEMPORARY INFORMATION SIGNING	51.4	SQ FT	\$25.00	\$1,285.00	\$12.00	\$35.00	\$19.71
155	X8100863	INTERCEPT EXISTING CONDUIT	1.0	EACH	\$1,600.00	\$1,600.00	\$775.00	\$1,000.00	\$807.14
156	X8140115	HANDHOLE TO BE ADJUSTED	6.0	EACH	\$1,600.00	\$9,600.00	\$3,767.00	\$4,000.00	\$3,805.00
157	X8760200	ACCESSIBLE PEDESTRIAN SIGNALS	8.0	EACH	\$2,000.00	\$16,000.00	\$2,937.00	\$3,300.00	\$2,997.86
158	X8780012	CONCRETE FOUNDATION, TYPE A 12-INCH DIAMETER	20.0	FOOT	\$350.00	\$7,000.00	\$316.50	\$340.00	\$321.07
159	X8891009	VIDEO VEHICLE DETECTION SYSTEM, SINGLE APPROACH	2.0	EACH	\$30,000.00	\$60,000.00	\$9,398.00	\$10,000.00	\$9,570.00
160	XX000856	MAILBOX REMOVAL AND RELOCATION	5.0	EACH	\$200.00	\$1,000.00	\$250.00	\$2,090.00	\$681.88
161	XX006658	FLOCCULATION LOGS	5.0	EACH	\$150.00	\$750.00	\$1.00	\$300.00	\$168.14
162	XX006659	FLOCCULATION POWDER	5.0	POUND	\$100.00	\$500.00	\$1.00	\$55.00	\$32.43
163	XX006729	PERIMETER EROSION BARRIER, ROLLED EXCELSIOR	8260.0	FOOT	\$5.00	\$41,300.00	\$2.00	\$8.00	\$5.07
164	XX008865	PERMEABLE PLASTIC BERM	126.0	FOOT	\$12.00	\$1,512.00	\$15.00	\$29.00	\$20.29
165	Z0013797	STABILIZED CONSTRUCTION ENTRANCE	120.0	SQ YD	\$25.00	\$3,000.00	\$0.01	\$64.00	\$25.43
166	Z0033046	RE-OPTIMIZE TRAFFIC SIGNAL SYSTEM LEVEL 2	1.0	EACH	\$3,000.00	\$3,000.00	\$2,090.00	\$2,400.00	\$2,160.00
167	Z0040530	PIPE UNDERDRAIN REMOVAL	10.0	FOOT	\$20.00	\$200.00	\$12.00	\$80.00	\$32.86
168	Z0051500	REMOVING AND RESETTING STREET SIGNS	22.0	EACH	\$300.00	\$6,600.00	\$220.00	\$275.00	\$245.00
169	Z0056648	STORM SEWERS, TYPE 1, WATER MAIN QUALITY PIPE, 12"	209.0	FOOT	\$150.00	\$31,350.00	\$80.00	\$200.00	\$125.39

Total **\$5,094,857.00**